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Quantitative Aptitude & Reasoning

1. Which media would be ideal to attract the attention of children to sell chocolates to them?
a. Radio b. Newspapers c. TV (advertisements) d. Leaflets

2. If ‘W’ means +,X means ‘+’,Y means ‘- and Z means ‘x’ then 28Z3Y4x12W6 = ?
a. 27 b. 82 c. 39 d. 53

3. K'is brother of T. M is the mother of K. W is brother of M. how is W related to T?
a. Maternal uncle b. Paternal Uncle ¢. Grandmother d. Uncle

4. A watch shows 4.30. If the minute hand points to east, in what direction will the hour hand point?
a. North-West b. South-East c. North-East d. North

5. A.woman is going with a boy is asked by another woman about the relationship between them? The
woman replied, “My maternal uncle and uncle of his maternal uncle is the same”. How the lady is related to
the boy?

a. Aunt and Nephew b. Mother and Son c. Grandson and Grandmother d. None of these

6. March 1% is Wednesday. Which month of the same year has the same calendar-
a. July b. November c. December d. October

7. If today is Thursday , after 730 days which will be the day of the week ?
a. Thursday b. Friday c. Saturday d. Monday

8. Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the probability that
the ticket drawn has a number which is a multiple of 3 or 5?
a. 8/15 b. 9/20 c. 2/5 d. 1/2

9. What is 55% of 320?
a. 144 b. 146 c.176 d. 156

10. If 5@6=61 and 8@10=164,then 7@9="?
a.125 b. 63 c.130 d.32

11. Pick the odd number out-
8, 27, 64, 100, 125, 216, 343
a.125 b.100 c.27 d. 343

12. Swatch Bharat Abhiyan was successful because it is a-
a. Formal way b. lateral way c. Interpersonal way d. Mass communication

13. According to a schedule, the restaurant’s floors are occupied on either...

a. Tuesday or Wednesday b. Tuesday or Thursday

c. Wednesday or Thursday d. Thursday or Friday
14. CNG, PETROL, DIESEL, ?

a. Engine b. Car c. Fuel d. Fire
15. Pizza, , Burger, Sandwich.

a. Finger chips b. Burger king c. Ice cream d. pea pulav



16. In arow of children, Divya is 7th from the left and Vijay is 9th from the right. When they interchange
their places among themselves, Divya becomes 18th From the left. Then what will be Vijay’s present
position from the right ?

a. 6th b. 16th C. 26th d. 20th

17. How many person(s) are heavier than the one who is second shortest?
a. None b. Two c. Four d. One

18. A committee of 3 members is to be made out of 6 men and 5 women. What is the probability that the
committee has at least two women?
a. 14/37 b. 14/33 c. 16/33 d. 14/23

19. A'is 30% more efficient than B. How much time will they, working together, take to complete a job
which A alone could have done in 23 days?
a. 9 days b. 11 days c. 15 days d. 13 days

20. Horse: Neigh :: Jackal ?
a. Chatter b. Howl c. Squeak d. Bray



GENERAL AWARENESS

1. India is a federal union comprising twenty-nine states and how many union territories?
A.6 B.7 C.8 D.9

2. Which of the following is the capital of Arunachal Pradesh?
A. ltanagar B. Dispur C. Imphal D. Panaji

3 Which was the first Indian movie nominated for Oscar?
A. Mother India B. Salaam Bombay C. Lagaan D . None of these

4. What is the state flower of Haryana?
A. Lotus B. Rhododendron C. Golden Shower D. Not declared

5. Which of the following states is not located in the North?
A. Jharkhand B. Jammu and Kashmir C. Himachal Pradesh D. Haryana

6 .First Newspaper in India?
A. Dainik Jagran B. Hicky’s Bengal Gazette C. Hinduatan D. Sudha Darpan

7. Which is the largest coffee producing state of India?
A. Kerala B. Tamil Nadu C. Karnataka D. Arunachal Pradesh

8. Who is known as the father of Indian Cinema?
A. Charan Singh B. Dhundiraj Govind Phalke  C. Raja Lalith Rai D. Balram Naidu
9. Which state has the largest population?

A. Uttar Pradesh B. Maharastra C. Bihar D. Andra Pradesh

10. Who Wrote “ Namak ka Daroga™ ?
A. Rabindranath Tagore  B. Bankim Chatterjee  C. Sanjeev Nirala D. Munshi Premchand



(1to3) Fill in the blanks:
1. He is very good

ENGLISH

making Stories.

A at B.in C. about D. for
2. Krishna would have been ------- on any evidence he gave.

A. challenged B. cross- examined C. Praised D. questioned
3. 1 do not hanker wealth.

A. after B. On C. From D. upon
(4t05) Antonyms:
4. Demolish:

A. Shift B. Built C. Repeat D. Hide
5. ENORMOUS

A. Weak B. Tiny C. Soft D. Average

(6to7) Idioms & Phrases:

6. To end in smoke
A. To make completely understand
C. To excite great applause

7. A black sheep
A. An unlucky person
C. An ugly person

(8to10) Sentence Correction

B. To ruin oneself
D. To overcome someone

B. A lucky person
D. None of these

8. What are needed are not large flowers but small buds.

A. were B. Was

C.lIs D. No improvement

9. Hardly had I finished writing the letter before Anil arrived.

A. then B. While
10. He plays cricket and tennis also .
A. both B. Besides

(Change to Passive Voice)
11. Rahul will pass the message.-
A) The Message will be passed by Rahul

C) The Message would be passed by Rahul

12. His hard work satisfied me.-
A) | was satisfied for his hard work.
C) | was satisfied with his hard work.

13. His comment hurt me deeply.
A) | was hurt deeply by his comment.
C) His comment was hurtful.

C. When D. as

C. Too D. No improvement

B) The Message will pass by Rahul
D) The Message will be passed by Rahul

B) I was satisfied by his hard work.

D) | was satisfied at his hard work.

B) I could be hurt deeply by his comment.
D) I should not be hurt by his comment.



14. New York is large city.
A)a B) the C) no article D) an

15. Are you attending reception today.
A)a B) the C) no article D) an

(find the correct sentence)
16. Except for you and I, everyone brought a present for the little birthday girl.
A) Except for him and 1, everyone brought a present for the little birthday girl
B) With the exception of you and I, everyone brought a present for the little birthday girl
C) Except for you and I, everyone had brought a present for the little birthday girl
D) Except for you and me, everyone brought present for the little birthday girl

Give Synonym of-

17. BRIEF -

A) Limited B) small C) little D) short
18. AUGUST

A) Common B) Ridiculous C) Dignified D) Petty

19. I had already published a novel and it was an unexpected success. | thought my

A) days were up B) chances were good  C) lady luck was happy D) fortune was made
20. Prattyush asked me to keep this secret

A) Secret B) in myself C) amongst us D) between us



